

SOME ADDITIVE RESULTS FOR THE GENERALIZED DRAZIN INVERSE IN A BANACH ALGEBRA*

DRAGANA S. CVETKOVIĆ-ILIĆ[†], XIAOJI LIU[‡], AND YIMIN WEI[§]

Abstract. In this note, additive results are presented for the generalized Drazin inverse in Banach algebra. Necessary and sufficient conditions are given for the generalized Drazin invertibility of the sum of two commuting generalized Drazin invertible elements. These results are a generalization of the results from the paper [C.Y. Deng and Y. Wei. New additive results for the generalized Drazin inverse. J. Math. Anal. Appl., 370:313–321, 2010.] to the Banach algebra case.

Key words. Banach algebra, Generalized Drazin inverse, Additive properties.

AMS subject classifications. 15A09.

1. Introduction. Let \mathcal{A} be a complex Banach algebra with the unit 1. By \mathcal{A}^{-1} , $\mathcal{A}^{\mathsf{nil}}$ and $\mathcal{A}^{\mathsf{qnil}}$, we denote the sets of all invertible, nilpotent, and quasi-nilpotent elements in \mathcal{A} , respectively. By $\sigma(a)$ we denote the spectrum of the element $a \in \mathcal{A}$ and by $\operatorname{acc}(\sigma(\mathbf{a}))$ we denote the set of all accumulation points of $\sigma(a)$. If \mathcal{B} is a sub-algebra of \mathcal{A} and $a \in \mathcal{B}$, then by $\sigma_{\mathcal{B}}(a)$ we denote the spectrum of the element a in the sub-algebra \mathcal{A} . Let us recall that the Drazin inverse of $a \in \mathcal{A}$ [4], is the element $x \in \mathcal{A}$ (denoted by a^{D}) which satisfies

(1.1)
$$xax = x, \quad ax = xa, \quad a^{k+1}x = a^k,$$

for some nonnegative integer k. The least such k is the index of a, denoted by ind(a). When ind(a) = 1, then the Drazin inverse a^{D} is called the group inverse and is denoted by a^g or $a^{\#}$.

^{*}Received by the editors on April 3, 2011. Accepted for publication on October 4, 2011. Handling Editor: Oskar Maria Baksalary.

[†]Department of Mathematics, Faculty of Science and Mathematics, University of Nis, 18000 Nis, Serbia (dragana@pmf.ni.ac.rs). Supported by grant no. 144003 of the Ministry of Science, Technology and Development, Republic of Serbia.

[‡]College of Mathematics and Computer Science, Guangxi University for Nationalities, and Guangxi Key Laborarory of Hybrid Computational and IC Design Analysis, Nanning 530006, P.R. China (xiaojiliu72@yahoo.com.cn). Supported by National Natural Science Foundation of China under grant no. 11061005, the Ministry of Education Science and Technology Key Project under grant no. 210164, and grants (HCIC201103) of Guangxi Key Laborarory of Hybrid Computational and IC Design Analysis Open Fund.

[§]School of Mathematical Science and Key Laboratory of Mathematics for Nonlinear Sciences, Fudan University, Shanghai, 200433, P.R. of China (ymwei@fudan.edu.cn). Supported by the National Natural Science Foundation of China under grant no. 10871051, Doctoral Program of the Ministry of Education under grant no. 20090071110003, and Shanghai Education Committee (Dawn Project).



1050 D.S. Cvetković-Ilić, X. Liu, and Y. Wei

The conditions from (1.1) are equivalent to

(1.2)
$$xax = x, \quad ax = xa, \quad a - a^2x \in \mathcal{A}^{\mathsf{nil}}.$$

The concept of the generalized Drazin inverse in a Banach algebra was introduced by Koliha [8]. The condition $a - a^2 x \in \mathcal{A}^{\mathsf{nil}}$ from (1.2) was replaced by the condition $a - a^2 x \in \mathcal{A}^{\mathsf{qnil}}$. Hence, the generalized Drazin inverse of a is the element $x \in \mathcal{A}$ (written as a^d) which satisfies

$$xax = x, \quad ax = xa, \quad a - a^2x \in \mathcal{A}^{\mathsf{qnil}}$$

The set \mathcal{A}^{d} consists of all $a \in \mathcal{A}$ such that a^{d} exists. The Drazin index of a, $\operatorname{ind}(a)$, is the nilpotency index of $a - a^2b$ if $a - a^2b \in \mathcal{A}^{\mathsf{nil}}$ and $\operatorname{ind}(a) = \infty$, otherwise. It is well-known that for $a \in \mathcal{A}$, a^{d} exists if and only if $0 \notin \operatorname{acc}(\sigma(a))$ and in that case a^{d} is unique [8].

An alternative definition of the generalized Drazin inverse in a normed algebra and a ring is also given in [5, 6, 7]. For interesting properties of the generalized Drazin inverse see [8].

Let $a \in \mathcal{A}$ and let $p \in \mathcal{A}$ be an idempotent $(p = p^2)$. Then we write

$$a = pap + pa(1-p) + (1-p)ap + (1-p)a(1-p),$$

and use the notations

$$a_{11} = pap, \quad a_{12} = pa(1-p), \quad a_{21} = (1-p)ap, \quad a_{22} = (1-p)a(1-p).$$

Every idempotent $p \in A$ induces a representation of an arbitrary element $a \in A$ given by the following matrix

$$a = \begin{bmatrix} pap & pa(1-p) \\ (1-p)ap & (1-p)a(1-p) \end{bmatrix}_{p} = \begin{bmatrix} a_{11} & a_{12} \\ a_{21} & a_{22} \end{bmatrix}_{p}.$$

Let a^{π} be the spectral idempotent of *a* corresponding to $\{0\}$. It is well-known that $a \in \mathcal{A}^{\mathsf{d}}$ can be represented in the following matrix form,

(1.3)
$$a = \begin{bmatrix} a_{11} & 0 \\ 0 & a_{22} \end{bmatrix}_p,$$

relative to $p = aa^{d} = 1 - a^{\pi}$, where a_{11} is invertible in the algebra pAp and a_{22} is quasinilpotent element of the algebra (1-p)A(1-p). Using that representation, the Drazin inverse of a is presented by

$$a^{\mathsf{d}} = \left[\begin{array}{cc} (a_{11})_{p\mathcal{A}p}^{-1} & 0\\ 0 & 0 \end{array} \right]_{p},$$



Some Additive Results for the Generalized Drazin Inverse in a Banach Algebra 1051

where $(a_{11})_{p\mathcal{A}p}^{-1}$ is the inverse of a_{11} in sub-algebra $p\mathcal{A}p$.

In this note, we generalize the results from [2] to the Banach algebra case.

First we state the following result which is proved in [9] for matrices, and extended in [3] for bounded linear operators and in [1] for arbitrary elements of a Banach algebra.

THEOREM 1.1. Let $x, y \in \mathcal{A}$ and

$$x = \begin{bmatrix} a & c \\ 0 & b \end{bmatrix}_p, \quad y = \begin{bmatrix} b & 0 \\ c & a \end{bmatrix}_{(1-p)}$$

relative to the idempotent $p \in A$.

(1) If $a \in (pAp)^{\mathsf{d}}$ and $b \in ((1-p)A(1-p))^{\mathsf{d}}$, then x and y are generalized Drazin invertible and

(1.4)
$$x^{\mathsf{d}} = \begin{bmatrix} a^{\mathsf{d}} & u \\ 0 & b^{\mathsf{d}} \end{bmatrix}_{p}, \quad y^{\mathsf{d}} = \begin{bmatrix} b^{\mathsf{d}} & 0 \\ u & a^{\mathsf{d}} \end{bmatrix}_{(1-p)}$$

where $u = \sum_{n=0}^{\infty} (a^{\mathsf{d}})^{n+2} cb^n b^{\pi} + \sum_{n=0}^{\infty} a^{\pi} a^n c(b^{\mathsf{d}})^{n+2} - a^{\mathsf{d}} cb^{\mathsf{d}}$. (2) If $x \in \mathcal{A}^{\mathsf{d}}$ and $a \in (p\mathcal{A}p)^{\mathsf{d}}$, then $b \in ((1-p)\mathcal{A}(1-p))^{\mathsf{d}}$ and $x^{\mathsf{d}}, y^{\mathsf{d}}$ are given

by (1.4).

2. Results. In this section, we present our main results.

THEOREM 2.1. Let $a, b \in \mathcal{A}^{d}$ and ab = ba. Then $a + b \in \mathcal{A}^{d}$ if and only if $1 + a^{\mathsf{d}}b \in \mathcal{A}^{\mathsf{d}}$. In this case, we have

$$\begin{split} (a+b)^{\mathsf{d}} &= a^{\mathsf{d}}(1+a^{\mathsf{d}}b)^{\mathsf{d}}bb^{\mathsf{d}} + (1-bb^{\mathsf{d}})\left[\sum_{n=0}^{\infty}(-b)^{n}(a^{\mathsf{d}})^{n}\right]a^{\mathsf{d}} \\ &+ b^{\mathsf{d}}\left[\sum_{n=0}^{\infty}(b^{\mathsf{d}})^{n}(-a)^{n}\right]a^{\pi}, \\ &+ b)^{\mathsf{d}} - a^{\mathsf{d}}\| \leq \|bb^{\mathsf{d}}\|\|a^{\mathsf{d}}\|\left[\|(1+a^{\mathsf{d}}b)^{\mathsf{d}}\| + 1\right] + \|(1-bb^{\mathsf{d}})\|\left[\sum_{n=1}^{\infty}\|(-b)^{n}(a^{\mathsf{d}})^{n}\|\right]\|a^{\mathsf{d}}\| \\ &+ \|b^{\mathsf{d}}\|\left[\sum_{n=0}^{\infty}\|(b^{\mathsf{d}})^{n}(-a)^{n}\|\right]\|a^{\pi}\|, \end{split}$$

and

 $\parallel (a$

$$\begin{aligned} (a+b)(a+b)^{\mathsf{d}} &= (aa^{\mathsf{d}} + ba^{\mathsf{d}})(1+a^{\mathsf{d}}b)^{\mathsf{d}}bb^{\mathsf{d}} + (1-bb^{\mathsf{d}})aa^{\mathsf{d}} + bb^{\mathsf{d}}a^{\pi}, \\ \|(a+b)(a+b)^{\mathsf{d}} - aa^{\mathsf{d}}\| &\leq \left[\|aa^{\mathsf{d}} + ba^{\mathsf{d}}\| \|(1+a^{\mathsf{d}}b)^{\mathsf{d}}\| + \|1-2aa^{\mathsf{d}}\| \right] \|bb^{\mathsf{d}}\|. \end{aligned}$$

1052



D.S. Cvetković-Ilić, X. Liu, and Y. Wei

Proof. Since a is generalized Drazin invertible, we will suppose that a is given by (1.3). Let $b = \begin{bmatrix} b_{11} & b_{12} \\ b_{21} & b_{22} \end{bmatrix}_p$.

From ab = ba, we get that $b_{12} = (a_{11})_{p\mathcal{A}p}^{-1}b_{12}a_{22}$ which implies that $b_{12} = (a_{11})_{p\mathcal{A}p}^{-n}b_{12}a_{22}^n$, for arbitrary $n \in \mathbb{N}$. Since a_{22} is a quasi-nilpotent, we get that $b_{12} = 0$. Similarly, by ab = ba it follows that $b_{21} = a_{22}b_{21}(a_{11})_{p\mathcal{A}p}^{-1}$, i.e., $b_{21} = 0$. Also, $a_{11}b_{11} = b_{11}a_{11}$ and $a_{22}b_{22} = b_{22}a_{22}$.

Since, $b \in \mathcal{A}^{\mathsf{d}}$ and $\sigma(b) = \sigma(b_{11})_{p\mathcal{A}p} \cup \sigma(b_{22})_{(1-p)\mathcal{A}(1-p)}$, using the Theorem 4.2 from the famous paper of Koliha [8], we get that $b_{11} \in p\mathcal{A}p$ and $b_{22} \in (1-p)\mathcal{A}(1-p)$, so $b_{11}, b_{22} \in \mathcal{A}^{\mathsf{d}}$ and we can represent b_{11} and b_{22} as

$$b_{11} = \begin{bmatrix} b'_{11} & 0\\ 0 & b'_{22} \end{bmatrix}_{p_1} \text{ and } b_{22} = \begin{bmatrix} b''_{11} & 0\\ 0 & b''_{22} \end{bmatrix}_{p_2}$$

where $p_1 = b_{11}b_{11}^d$, $p_2 = b_{22}b_{22}^d$, b_{11}' , b_{11}'' are invertible in the algebras $p_1\mathcal{A}p_1$ and $p_2\mathcal{A}p_2$ respectively, and b_{22}' , b_{22}'' are quasi-nilpotent. Since b_{11} commutes with an invertible a_{11} and b_{22} commutes with quasi-nilpotent a_{22} , as before we prove that

$$a_{11} = \begin{bmatrix} a'_{11} & 0 \\ 0 & a'_{22} \end{bmatrix}_{p_1} \quad \text{and} \quad a_{22} = \begin{bmatrix} a''_{11} & 0 \\ 0 & a''_{22} \end{bmatrix}_{p_2}$$

Since $p_1p = pp_1 = p_1$, from the fact that a_{11} is invertible in the subalgebra pApwe get that a'_{11} and a'_{22} are invertible in the algebras p_1Ap_1 and $(p - p_1)A(p - p_1)$ respectively. Also, a''_{11} and a''_{22} are quasi-nilpotent and we have that a'_{ii} commutes with b'_{ii} and a''_{ii} commutes with b''_{ii} , for i = 1, 2.

Since a'_{22} is invertible and b'_{22} is quasi-nilpotent and they commute, we have that $(a'_{22})^{-1}_{(p-p_1)\mathcal{A}(p-p_1)}b'_{22}$ is quasi-nilpotent, so $(p-p_1)+(a'_{22})^{-1}_{(p-p_1)\mathcal{A}(p-p_1)}b'_{22}$ is invertible in $(p-p_1)\mathcal{A}(p-p_1)$ and $a'_{22}+b'_{22} \in \mathcal{A}^{\mathsf{d}}$.

Similarly, we conclude that $a_{11}'' + b_{11}'' \in \mathcal{A}^{\mathsf{d}}$.

Also, $a_{22}'' + b_{22}''$ is generalized Drazin invertible.

Now, we obtain that

$$a + b = a'_{11} + b'_{11} + a'_{22} + b'_{22} + a''_{11} + b''_{11} + a''_{22} + b''_{22}$$

Since, $a'_{11} + b'_{11} \in p_1 \mathcal{A} p_1$ and $b'_{22} + a''_{11} + b''_{11} + a''_{22} + b''_{22} \in (p - p_1)\mathcal{A}(p - p_1)$ we have that

$$a + b \in \mathcal{A}^{\mathsf{d}} \Leftrightarrow \left(a_{11}' + b_{11}' \in \mathcal{A}^{\mathsf{d}} \text{ and } a_{22}' + b_{22}' + a_{11}'' + b_{11}'' + a_{22}'' + b_{22}'' \in \mathcal{A}^{\mathsf{d}}\right).$$



Firstly, we will consider the generalized Drazin invertibility of $y = a'_{22} + b'_{22} + a''_{11} + b''_{11} + a''_{22} + b''_{22}$. From $p_2yp_2 = a''_{11} + b''_{11}$ and $(1 - p_2)y(1 - p_2) = a'_{22} + b'_{22} + a''_{22} + b''_{22}$, we conclude that

$$y \in \mathcal{A}^{\mathsf{d}} \Leftrightarrow \left(a_{11}^{\prime\prime} + b_{11}^{\prime\prime} \in \mathcal{A}^{\mathsf{d}} \text{ and } a_{22}^{\prime} + b_{22}^{\prime} + a_{22}^{\prime\prime} + b_{22}^{\prime\prime} \in \mathcal{A}^{\mathsf{d}}\right).$$

Before, we show that $a_{11}'' + b_{11}'' \in \mathcal{A}^d$, so $y \in \mathcal{A}^d$ if and only if $z = a_{22}' + b_{22}' + a_{22}'' + b_{22}'' \in \mathcal{A}^d$. Notice that z = pzp + (1-p)z(1-p), where $pzp = a_{22}' + b_{22}' \in \mathcal{A}^d$ and $(1-p)z(1-p) = a_{22}'' + b_{22}'' \in \mathcal{A}^d$, so $z \in \mathcal{A}^d$. Hence, $y \in \mathcal{A}^d$ and we get that $a + b \in \mathcal{A}^d$ if and only if $a_{11}' + b_{11}' \in \mathcal{A}^d$.

Now,

$$(a'_{11} + b'_{11})^{\mathsf{d}} = a'_{11}(p_1 + (a'_{11})^{-1}_{p_1 \mathcal{A} p_1} b'_{11})^{\mathsf{d}} = p_1 p a^{\mathsf{d}} (1 + a^{\mathsf{d}} b)^{\mathsf{d}} b b^{\mathsf{d}} p p_1.$$

By the first equation, we easily obtain

$$\begin{split} (a+b)^{\mathsf{d}} - a^{\mathsf{d}} &= a^{\mathsf{d}} (1+a^{\mathsf{d}}b)^{\mathsf{d}} b b^{\mathsf{d}} + (1-bb^{\mathsf{d}}) \left[\sum_{n=0}^{\infty} (-b)^{n} (a^{\mathsf{d}})^{n} \right] a^{\mathsf{d}} \\ &+ b^{\mathsf{d}} \left[\sum_{n=0}^{\infty} (b^{\mathsf{d}})^{n} (-a)^{n} \right] a^{\pi} - a^{\mathsf{d}} \\ &= a^{\mathsf{d}} (1+a^{\mathsf{d}}b)^{\mathsf{d}} b b^{\mathsf{d}} - b b^{\mathsf{d}} a^{\mathsf{d}} + (1-bb^{\mathsf{d}}) \left[\sum_{n=1}^{\infty} (-b)^{n} (a^{\mathsf{d}})^{n} \right] a^{\mathsf{d}} \\ &+ b^{\mathsf{d}} \left[\sum_{n=0}^{\infty} (b^{\mathsf{d}})^{n} (-a)^{n} \right] a^{\pi}. \end{split}$$

From above, we can estimate

$$\begin{aligned} \|(a+b)^{\mathsf{d}} - a^{\mathsf{d}}\| &\leq \|bb^{\mathsf{d}}\| \|a^{\mathsf{d}}\| \left[\|(1+a^{\mathsf{d}}b)^{\mathsf{d}}\| + 1 \right] + \|(1-bb^{\mathsf{d}})\| \left[\sum_{n=1}^{\infty} \|(-b)^{n}(a^{\mathsf{d}})^{n}\| \right] \|a^{\mathsf{d}}\| \\ &+ \|b^{\mathsf{d}}\| \left[\sum_{n=0}^{\infty} \|(b^{\mathsf{d}})^{n}(-a)^{n}\| \right] \|a^{\pi}\|, \end{aligned}$$

and

$$\begin{aligned} \|(a+b)(a+b)^{\mathsf{d}} - aa^{\mathsf{d}}\| &= \|(aa^{\mathsf{d}} + ba^{\mathsf{d}})(1+a^{\mathsf{d}}b)^{\mathsf{d}}bb^{\mathsf{d}} - bb^{\mathsf{d}}aa^{\mathsf{d}} + bb^{\mathsf{d}}a^{\pi}\| \\ &\leq \left[\|aa^{\mathsf{d}} + ba^{\mathsf{d}}\|\|(1+a^{\mathsf{d}}b)^{\mathsf{d}}\| + \|1 - 2aa^{\mathsf{d}}\|\right]\|bb^{\mathsf{d}}\|. \ \Box \end{aligned}$$

COROLLARY 2.2. Let $a, b \in \mathcal{A}^{\mathsf{d}}$ be such that ab = ba and $1 + a^{\mathsf{d}}b \in \mathcal{A}^{\mathsf{d}}$.



1054

D.S. Cvetković-Ilić, X. Liu, and Y. Wei

(1) If b is quasi-nilpotent, then

$$(a+b)^{\mathsf{d}} = \sum_{n=0}^{\infty} (a^{\mathsf{d}})^{n+1} (-b)^n = (1+a^{\mathsf{d}}b)^{-1} a^{\mathsf{d}}.$$

(2) If $b^k = 0$, then $(a+b)^d = \sum_{n=0}^{k-1} (a^d)^{n+1} (-b)^n = (1+a^d b)^{-1} a^d$. (3) If $b^k = b$ $(k \ge 3)$, then $b^d = b^{k-2}$ and

$$\begin{array}{lcl} (a+b)^{\mathsf{d}} & = & a^{\mathsf{d}}(1+a^{\mathsf{d}}b)^{\mathsf{d}}b^{k-1}+(1-b^{k-1})a^{\mathsf{d}} \\ & & +b^{k-2}\left[\sum\limits_{n=0}^{\infty}(b^{\mathsf{d}})^{n}(-a)^{n}\right]a^{\pi} \\ & = & a^{\mathsf{d}}(1+a^{\mathsf{d}}b)^{\mathsf{d}}b^{k-1}+(1-b^{k-1})a^{\mathsf{d}} \\ & & +b^{k-2}(1+ab^{k-2})^{\mathsf{d}}a^{\pi}. \end{array}$$

(4) If $b^2 = b$, then $b^d = b$ and

$$(a+b)^{\mathsf{d}} = a^{\mathsf{d}}(1+a^{\mathsf{d}}b)^{\mathsf{d}}b + (1-b)a^{\mathsf{d}} + b\left[\sum_{n=0}^{\infty} (-a)^{n}\right]a^{\pi} \\ = a^{\mathsf{d}}(1+a^{\mathsf{d}}b)^{\mathsf{d}}b + (1-b)a^{\mathsf{d}} + b(1+a)^{\mathsf{d}}a^{\pi}.$$

(5) If $a^2 = a$ and $b^2 = b$, then 1 + ab is invertible and $a(1 + ab)^{-1}b = \frac{1}{2}ab$. In this case,

$$(a+b)^{\mathsf{d}} = a(1+ab)^{-1}b + b(1-a) + (1-b)a$$

= $a+b-\frac{3}{2}ab$.

THEOREM 2.3. Let $a \in \mathcal{A}^{\mathsf{d}}$ and $b \in \mathcal{A}$ be such that $\|ba^{\mathsf{d}}\| < 1, a^{\pi}ba^{\pi} = a^{\pi}b$ and $a^{\pi}ab = a^{\pi}ba$. If $a^{\pi}b \in \mathcal{A}^{\mathsf{d}}$, then $a + b \in \mathcal{A}^{\mathsf{d}}$. In this case,

$$(a+b)^{\mathsf{d}} = (1+a^{\mathsf{d}}b)^{-1}a^{\mathsf{d}} + (1+a^{\mathsf{d}}b)^{-1}a^{\pi}\sum_{n=0}^{\infty} (b^{\mathsf{d}})^{n+1}(-a)^{n}$$
$$+ \left[\sum_{n=0}^{\infty} \left((1+a^{\mathsf{d}}b)^{-1}a^{\mathsf{d}}\right)^{n+2}ba^{\pi}(a+b)^{n}\right]a^{\pi}$$
$$\times \left[1 - (a+b)a^{\pi}\sum_{n=0}^{\infty} (b^{\mathsf{d}})^{n+1}(-a)^{n}\right],$$

and

$$\begin{split} \|(a+b)^{\mathsf{d}} - a^{\mathsf{d}}\| &\leq \frac{\|a^{\mathsf{d}}\| \|ba^{\mathsf{d}}\|}{1 - \|ba^{\mathsf{d}}\|} + \|(1 + a^{\mathsf{d}}b)^{-1}a^{\pi}\| \sum_{n=0}^{\infty} \|(b^{\mathsf{d}})\|^{n+1} \|(-a)\|^{n} \\ &+ \left[\sum_{n=0}^{\infty} \left(\frac{\|a^{\mathsf{d}}\| \|ba^{\mathsf{d}}\|}{1 - \|ba^{\mathsf{d}}\|}\right)^{n+2} \|b\|\|a + b\|^{n}\right] \|a^{\pi}\|^{2} \\ &+ \|a^{\pi}\|^{2} \left[\sum_{n=0}^{\infty} \left(\frac{\|a^{\mathsf{d}}\| \|a^{\mathsf{d}}b\|}{1 - \|a^{\mathsf{d}}b\|}\right)^{n+2} \|b\|\|a + b\|^{n+1}\right] \left[\sum_{n=0}^{\infty} \|(b^{\mathsf{d}})\|^{n+1} \|a\|^{n}\right] \\ \end{split}$$



Some Additive Results for the Generalized Drazin Inverse in a Banach Algebra 1055

Proof. Since $a \in \mathcal{A}^{\mathsf{d}}$ and $a^{\pi}b(1-a^{\pi})=0$, we have that for $p=1-a^{\pi}$

$$a = \begin{bmatrix} a_1 & 0 \\ 0 & a_2 \end{bmatrix}_p$$
 and $b = \begin{bmatrix} b_1 & b_3 \\ 0 & b_2 \end{bmatrix}_p$

where a_1 is invertible in the algebra $p\mathcal{A}p$ and a_2 is quasi-nilpotent element of the algebra $(1-p)\mathcal{A}(1-p)$. Also by $a^{\pi}ab = a^{\pi}ba$ and the fact that $a^{\pi}b \in \mathcal{A}^{\mathsf{d}}$, we conclude that $a_2b_2 = b_2a_2$ and $b_2 \in \mathcal{A}^{\mathsf{d}}$. Since $\sigma(ba^{\mathsf{d}}) \cup \{0\} = \sigma(a^{\mathsf{d}}b) \cup \{0\}$, it follows from $\|ba^{\mathsf{d}}\| < 1$ that $1 + a^{\mathsf{d}}b$ is invertible. Now, from Theorem 2.1, we have that

$$(a_2 + b_2)^{\mathsf{d}} = \sum_{n=0}^{\infty} (b_2^{\mathsf{d}})^{n+1} (-a_2)^n$$

Using Theorem 1.1, we get that

$$(a+b)^{\mathsf{d}} = \left[\begin{array}{cc} (a_1+b_1)^{-1} & S \\ 0 & \sum_{n=0}^{\infty} (b_2^{\mathsf{d}})^{n+1} (-a_2)^n \end{array} \right]_p,$$

where

$$S = \left[\sum_{n=0}^{\infty} (a_1 + b_1)^{-n-2} b_3 (a_2 + b_2)^n\right] \left[1 - p - (a_2 + b_2) \sum_{n=0}^{\infty} (b_2^d)^{n+1} (-a_2)^n\right] \\ - (a_1 + b_1)^{-1} b_3 \sum_{n=0}^{\infty} (b_2^d)^{n+1} (-a_2)^n.$$

We know that

$$\left[\begin{array}{cc} (a_1 + b_1)^{-1} & 0 \\ 0 & 0 \end{array} \right]_p = (1 + a^{\mathsf{d}} b)^{-1} a^{\mathsf{d}}$$

and

$$\begin{bmatrix} 0 & 0 \\ 0 & \sum_{n=0}^{\infty} (b_2^{\mathsf{d}})^{n+1} (-a_2)^n \end{bmatrix}_p = a^{\pi} \sum_{n=0}^{\infty} (b^{\mathsf{d}})^{n+1} (-a)^n.$$

Also, by computation we get

$$\begin{pmatrix} 0 & S \\ 0 & 0 \end{pmatrix}_{p} = \left[\sum_{n=0}^{\infty} \left((1+a^{\mathsf{d}}b)^{-1}a^{\mathsf{d}} \right)^{n+2} ba^{\pi}(a+b)^{n} \right] a^{\pi} \\ \times \left[1 - (a+b)a^{\pi} \sum_{n=0}^{\infty} (b^{\mathsf{d}})^{n+1} (-a)^{n} \right] \\ - (1+a^{\mathsf{d}}b)^{-1}a^{\mathsf{d}}ba^{\pi} \sum_{n=0}^{\infty} (b^{\mathsf{d}})^{n+1} (-a)^{n}.$$



1056

D.S. Cvetković-Ilić, X. Liu, and Y. Wei

Hence,

$$\begin{split} (a+b)^{\mathsf{d}} &= (1+a^{\mathsf{d}}b)^{-1}a^{\mathsf{d}} + (1+a^{\mathsf{d}}b)^{-1}a^{\pi}\sum_{n=0}^{\infty}(b^{\mathsf{d}})^{n+1}(-a)^{n} \\ &+ \left[\sum_{n=0}^{\infty}\left((1+a^{\mathsf{d}}b)^{-1}a^{\mathsf{d}}\right)^{n+2}ba^{\pi}(a+b)^{n}\right]a^{\pi} \\ &\times \left[1-(a+b)\sum_{n=0}^{\infty}(b^{\mathsf{d}})^{n+1}(-a)^{n}\right]. \end{split}$$

Since

$$(a_1 + b_1)^{-1} \oplus 0 = (1 + a_1^{-1}b_1)^{-1}a_1^{-1} \oplus 0 = a_1^{-1}(1 + b_1a_1^{-1})^{-1}$$

It follows that

$$(1+a^{\mathsf{d}}b)^{\mathsf{d}}a^{\mathsf{d}} \oplus 0 = a^{\mathsf{d}}(1+ba^{\mathsf{d}})^{\mathsf{d}}$$

By the above facts and the condition $\|ba^\mathsf{d}\| < 1,$ we obtain

$$\begin{split} \|(a+b)^{\mathsf{d}} - a^{\mathsf{d}}\| &= \|\sum_{n=1}^{\infty} a^{\mathsf{d}} (ba^{\mathsf{d}})^n + (1+a^{\mathsf{d}} b)^{-1} a^{\pi} \sum_{n=0}^{\infty} (b^{\mathsf{d}})^{n+1} (-a)^n \\ &+ \left[\sum_{n=0}^{\infty} \left(\sum_{n=0}^{\infty} a^{\mathsf{d}} (ba^{\mathsf{d}})^n\right)^{n+2} ba^{\pi}) (a+b)^n\right] a^{\pi} \\ &\times \left[1 - (a+b) a^{\pi} \sum_{n=0}^{\infty} (b^{\mathsf{d}})^{n+1} (-a)^n\right] \| \\ &\leq \frac{\|a^{\mathsf{d}}\| \|ba^{\mathsf{d}}\|}{1 - \|ba^{\mathsf{d}}\|} + \|(1+a^{\mathsf{d}} b)^{-1} a^{\pi}\| \sum_{n=0}^{\infty} \|(b^{\mathsf{d}})\|^{n+1} \|(-a)\|^n \\ &+ \left[\sum_{n=0}^{\infty} \left(\frac{\|a^{\mathsf{d}}\| \|ba^{\mathsf{d}}\|}{1 - \|ba^{\mathsf{d}}\|}\right)^{n+2} \|b\| \|a+b\|^n\right] \|a^{\pi}\|^2 \\ &+ \|a^{\pi}\|^2 \left[\sum_{n=0}^{\infty} \left(\frac{\|a^{\mathsf{d}}\| \|ba^{\mathsf{d}}\|}{1 - \|ba^{\mathsf{d}}\|}\right)^{n+2} \|b\| \|a+b\|^{n+1}\right] \left[\sum_{n=0}^{\infty} \|(b^{\mathsf{d}})\|^{n+1} \|a\|^n\right]. \Box \end{split}$$

COROLLARY 2.4. Let $a \in \mathcal{A}^{\mathsf{d}}$ and $b \in \mathcal{A}$ be such that $\|ba^{\mathsf{d}}\| < 1, a^{\pi}b(1-a^{\pi}) = 0$ and $a^{\pi}ab = a^{\pi}ba$,

(1) If $baa^{d} = 0$ and b is quasi-nilpotent, then $a + b \in \mathcal{A}^{d}$ and

$$(a+b)^{\mathsf{d}} = \sum_{n=0}^{\infty} (a^{\mathsf{d}})^{n+2} b(a+b)^n + a^{\mathsf{d}}.$$



Some Additive Results for the Generalized Drazin Inverse in a Banach Algebra 1057

(2) If
$$a^{\pi}b = ba^{\pi}$$
, $\sigma(a^{\pi}b) = 0$, then $a + b \in \mathcal{A}^{\mathsf{d}}$ and

 $(a+b)^{\mathsf{d}} = (1+a^{\mathsf{d}}b)^{-1}a^{\mathsf{d}} = a^{\mathsf{d}}(1+ba^{\mathsf{d}})^{-1}.$

The following theorem is a generalization of Theorem 2.3 and a generalization of Theorem 6 from [2].

THEOREM 2.5. Let $a, b \in \mathcal{A}^{\mathsf{d}}$ and let q be an idempotent such that aq = qa, (1-q)bq = 0, (ab-ba)q = 0, and (1-q)(ab-ba) = 0. If (a+b)q and (1-q)(a+b) are generalized Drazin invertible, then $a + b \in \mathcal{A}^{\mathsf{d}}$ and

$$(a+b)^{\mathsf{d}} = \sum_{n=0}^{\infty} S^{n+2}qb(1-q)(a+b)^n(1-q)\left[1-(a+b)S\right]$$
$$+\left[1-(a+b)S\right]q\sum_{n=0}^{\infty}(a+b)^nqb(1-q)S^{n+2}$$
$$+(1-Sqb)(1-q)S+Sq,$$

where

$$S = a^{\mathsf{d}}(1+a^{\mathsf{d}}b)^{\mathsf{d}}bb^{\mathsf{d}} + (1-bb^{\mathsf{d}}) \left[\sum_{n=0}^{\infty} (-b)^{n}(a^{\mathsf{d}})^{n+1}\right] \\ + \left[\sum_{n=0}^{\infty} (b^{\mathsf{d}})^{n+1}(-a)^{n}\right]a^{\pi}.$$

Proof. The proof is similar to the proof of Theorem 2.3. \Box

Acknowledgement. The authors would like to thank the anonymous reviewer for his\her useful comments that helped to improve the presentation of these paper. Also, we are very grateful to Professor Oskar Maria Baksalary for his valuable suggestions and kind cooperation.

REFERENCES

- N. Castro González and J.J. Koliha. New additive results for the g-Drazin inverse. Proc. Roy. Soc. Edinburgh Sect. A., 134:1085–1097, 2004.
- [2] C.Y. Deng and Y. Wei. New additive results for the generalized Drazin inverse. J. Math. Anal. Appl., 370:313–321, 2010.
- D.S. Djordjević and P.S. Stanimirović. On the generalized Drazin inverse and generalized resolvent. Czechoslovak Math. J., 51:617–634, 2001.
- M.P. Drazin. Pseudo-inverses in associative rings and semigroups. Amer. Math. Monthly, 65:506– 514, 1958.
- [5] R.E. Harte. Spectral projections. Irish Math. Soc. Newsletter, 11:10–15, 1984.
- [6] R.E. Harte. Invertibility and Singularity for Bounded Linear Operators. Marcel Dekker, Inc., New York, 1988.



1058

D.S. Cvetković-Ilić, X. Liu, and Y. Wei

- [7] R.E. Harte. On quasinilpotents in rings. Panamer. Math. J., 1:10–16, 1991.
- [8] J.J. Koliha. A generalized Drazin inverse. Glasgow Math. J., 38:367-381, 1996.
- C.D. Meyer and N.J. Rose. The index and the Drazin inverse of block triangular matrices. SIAM J. Appl. Math., 33:1–7, 1977.
- [10] Y. Wei and C. Deng. A note on additive results for the Drazin inverse. Linear Multilinear Algebra, to appear, doi:10.1080/03081087.2010.496110.